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.CHEMISTRY

Which will have least amount of heat of il
neutralization ? )// X

(A) HNO, + NaOH

(B) HCI/+KOH
(C) CH,COOH+ NH,OH

(D) HC/+ NaOH

Why I, dissolves in KI solution ? 7.

(A) Formation of double salt
(B) Formation of complex salt
(C) Common ion effect

(D) Formation of simple salt

8.
The solubility of Ag,CrO, in water in
~ moles/litre is S and its solubility product
is Kg. The following relation is correct :
3 [Ks 9.

() S= N1

3[s

(B) Ksz\/;
K

S

(D) KS=\/%

For a solution containing [OH ] =1 M,
the following is incorrect :

(A) pOH=0 (B) H =10""M

(C) pH=14 (D) pOH= 14

Its solution in water will be basic ™ TT“
(A) NH,CI

(B) FeCl,

(C) Cuso,

(D) CH,COONa

Among the following indicators, which
one operates in the most basic pH range ?

) Methyl orange
‘ Phenolphthalein
J) Methyl Red

/) Phenol Red

H,0 is a differentiating solvent for this.

(A) HCI (B) HNO,

(C) H,S0, (D) CH,COOH

This is not a Lewis acid.
(A) CO (B) Cu?*
(C) SO, (D) ZnCl,

The correct order of equivalent
conductance at oo dilution of LiC/, NaC/
& KClis

(A) LiC/>NaCl/>KC/
(B) KC/>NaC/> LiC/
(C) NaC/>KCI/> LiCl/
(D) LiCI>KCI > NaCl/

,_v/’"'l"(’)".“}%iof Acetone is dissolved in 900 g
; H

1ok ‘gMol. wt. of acetone = 58). The

ction of acetone in solution is
(B) 0.002
18 (D) 0.009

oo

he amount of glucose which dissolved
in 100 g H,O decreases the vapour

pressure of water from 17.53 mm to
17.22 mm is (Mol. wt. of glucose = 183) :

(A) 1g (B) 10¢g
(©) 18¢ (D) 15¢g

MNIRAANTL
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1. forue) SerfFiexo So gaa erft ?
(A) HNO, + NaOH

(B) HCI/+KOH |
(C) CH;COOH + NH,OH

(D) HCI/+ NaOH
2. 1L, ®iKI Reg i gerefia s ?
(A) fgF @ s e
(B) WP QU BT ET
(C) wH-3m 99T

(D) R VT BT AT

3. Ag,CrO, @15 # Hie/foex 4 faeraar S &
3R 5o faergar oEwd K ® | e ddy
T :

(A) s=</§s
(B) Ks=</§
(©) S=\/§:§
(D) Ks=\/§'

4. wﬁmﬁvﬁ[omﬂmé,ﬁ%m»
IBMEN S o

(A) pOH=0
(C) pH=14

(B) H 510%™
(D) pOH% 44~

5. sueTod d e araemm
(A) NH,C!
(B) FeCly
(C) CuSO,
(D) CH,COONa
BIMC6

H,0 g5 forg faddh faemmas &

(A) HCI (B) HNO,

(C) H,S0, (D) CH,COOH
(A) CO @B ot

(€) SO, (D) ZnCl,

oo a1 W LiC/, NaC/ 3iR KC/ &t gedia!
ATIhdT BT el hH &

(A) LiClI>NaCl>KCI
(B) KCI>NaCl> LiCl
(C) NaCl>KCI> LiCl
(D) LiCl>KCI> NaCl

900 WM 9 ¥ THleH & 5.8 M "l
(@A BTIMHR = 58) | faera # Tt &1

A T &

(A) 0.998
(©) 0.018

(B) 0.002

(D) 0.009

faa @ 100 7™ H,0 3 =i | Sidt
HTIWSE 17.53 mm | ¥R 17.22 mm &1
AT (e[ BT IUHR = 183) ?

A) 1g (B) 10¢g
(C) 18¢ (D) 15¢g
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12.

13.

14.

15.

16.

°C. If K, for water = 0.51 °C molal§ o
the molecular weight of the compound is ﬁu o Q:b €) Diastase
(A) 51 (B) 60 (D) Maltase
<© 7 (D) 101
18. The equilibrium constant  for

C6H5COOH associates in benzene into a

dimer. The ratio of Van’t Hoff factors of
C6H5COOH in this solution to aqueous

solution of NaCl is

(A) 1:4 B) 1:1
(€ 1:2 D) 2:1
The product of CO + 2H,
CuO + ZnO + Cr203
300°C,200atm
(A) HCHO
(B) HCOOH

(C) (CH,C0),0
(D) CH,OH

Addition of 1 — 2% Ethyl alcohol is
mixed with CHC/; & during its storage,

it functions as

(A) Negative catalyst
(B) Oxidising agent
(C) Reducing agent :
(D) Positive catalyst y # F

In oxidation of oxalic acid by KMnO4
H,S0,, the following acts as®, my
4

autocatalyst :
A) K (B) Mn**
(©) O, (D) SO%

N, + 0, == 2NO is 4 x 107 at 200

K. Use of a catalyst led to increase in
rate by 10 times. Its equilibrium
constant now is

(A) 40x 107
(B) 20x 107
(C) 4x107*

(D) 2x107*

19. The lower limit for the size for a
solute particle to be colloidal is about

(A) 50 A (B) 1000 A

(C) 2000 A (D) 5000 A
20. Milkis

(A) Aerosol (B) Foam

(C) Sol (D) . Emulsion

Its solution in water is an example of an
irreversible colloid.

(B) Protein
(D) As,S,

Purple of Cassius consists of
(A) Au (B) Ag
©) S (D) Fe(OH),

NDYRANC
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13.

14.

15.

16.

BIMCé6

@ wHf e % wdta R & 6 T
w100 7 o e o g P
FRIAE 100.51 °C ¥ ok @ K, = 0.54¢
°C molal™! &, d1 verf H130R & \i\j

(A) 51
(©) 79

(B) 60
(D) 101

C¢H5COOH awfi faera # wfora &1 fgwa
TS | 3 qic 81 101 BT NaCl & Telid
faera= & aic 8% oId &1 3 U &

B) 1:1
(D) 2:1

(A) 1:4
©) 1:2

CuO + ZnO + Cr203
CO + 2H,

300°C, 200 atm
SR E

(A) HCHO

(B) HCOOH

(€) (CH,C0),0

(D) CH,0H

iy

:»")y 3,
CHCI, % o wa % forg v & fore et ¥

1-2% vﬁaqaﬁﬁaﬁmﬁmm? m%/

P ¢

FAUBR BT FRATE : i 7\

el
AN
(A) OIS ISRS
(B) sitRfioR®
(C) JyarEas

(D) H9THS SORE

sifeafad sr & KMnO, + H,SO, &RT
SitaftaRor ¥, fore -SSR BT PR FRATE

(B) Mn®*
(D) SO%

A) K*
(©) €O,

fRRIF 4 x 1074 & | 387F 1R A |
X 10 TP ag T ¥ | 318 3T 0 fRRT5 &

(A) 40x 1074
(B) 20x 107*
(©) 4x10™
(D) 2x 107
o faRa s &) Frarss! eF & fog a9
TGS P ~GATH AT & T
(A) 50 A (B) 1000 A
(C) 2000 A (D) 5000 A
]

Wt (B) %

|t (D) "™
AP A AT T Sebaofid Plciigs B
IR
(A) T (B) wrEH
(C) e (D) As,S,
e 3ife R glarg
(A) Au (B) Ag
©) S - (D) Fe(OH);
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23.

24.

28.

26.

H,S is used with fresh precipita' :
As,S;yas:

(A) Solubilization agent
(B) Peptising agent
(C) Reducing agent
(D) Oxidising agent

This is important in stabilization of a
colloidal solution.

(A) Diffusibility
(B) Tyndall effect
(C) Brownian motion

(D) Aggregation

The AH; for st(g), SOZ(g) and Hzo(,)

are — 5.20, —70.90 and —68.40 kCal mol™"
respectively. _The heat of reaction
2H,8 o) + SOy > 38+ 2H,0, is

(A) —55.50 kCal

(B) + 55.50 kCal

(C) —81.30 kCal

(D) - 136.80 kCal

AH for C6H6(l) +:3H
and COHIO(D + H2(g) - Clez(,) are
205 kJ mol”' and -119 kJ mol™}

respectively. The resonance energy fi r*{
C¢H, (benzene) is

29~ Cetiag

(A) —357kJ mol™!
(B) + 357 kJ mol™!
(C) 152 kJ mol™

(D) — 152 kJ mol™!

28.

29.

30.

Carbon shows catenation since
(A) It has valence of 4.

(B) C - C bond energy is high.
(C) atomic radius is small.

(D) It can bond with O & H.

The following can be purified by
sublimation :

(A) (COOH),
(B) C¢HsCOOH
(C) C¢HsNH,

(D) CH,COCH,

What was the first chromatographic
material used by Tswett ?

(A) SiO,

(B) Cellulose

#B) Solid | Liquid

(C) Liquid | Liquid

(D) Liquid | Solid

RIMCA
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23.  H,S F1As,S; Hamen s R d | 23\ e a e ond i dife & 2
H,S S9&1 51 dRaT s : t \’)—sg (A) H,CO,

J & B) HCN

(A) faems \ % .
‘\‘ ~.4 4 (C) NH,.CO.NH,
(B) T<CIHR® (D) CS,
(C) Juars
28. G AjRaferd B &1 0T ¥ © Fife
(D) siFfieRS

(A) THBIEIEHATS T |
(B) C-C a=ASaiSeag |
(C) 9% WAV FIRISTABIETE |

24. FrAgE foH & v & fog a8 aeayui

(A) faaRom@T

(D) &0 3R H & IRy T R GHa1 & |
(B) fersaruwma
(C) artfa 29. o1 oRdUTET gRTIEA fear S gHars ;
(D) wE : (A) (COOH),

(B) C,HsCOOH
(C) C4HsNH,

25. H,S SO2(g)3ﬁq HZOU)ﬁAHf s (D) CH,COCH

2%(gy

— 5.20, —70.90 3R —68.40 kCal mol ™! & |
A 2H,S ) + SOy = 38 + 2H,0,, 30. e J gy few gewRl $I aiera § wam
PIFHHTE T2
e
. a
(C) - 81.30 kCal (B) wegam
(D) - 136.80 kCal (C) CaCO,

(D) =™

26. CHyy + 3Hy, -5 CHpy IR L
CeH o + Hy(g) = CeHy(p) @ fo- AH 1 .5 B %o aoforat 3 R smawen siR aftrefer
w21 — 205 kJ mol™! sk — 119 k] mol ™! ,
£ 1CH,, (370F) B 311 St & w\\\'- ‘
(A) - 357 kI mol™
(B) + 357 kJ mol™!
(C) 152kJ mol™
(D) - 152 kJ mol™

BIMC6 9 -
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32,

34.

35s.

36.

37.

33.

Lassaigne’s test is not used for testing its
presence.

(A) N
©) 1

(B) CI
(D) P

What is “wood spirii” ?
(A) CH;0H
(B) CH,CH,OH

(C) CH,COCH,
(D) CH,;COOH

C,H,,.,0 is the general formula of

(A) Alkanals
(B) Alkanones
(C) Alkanols

A(D) Alkyl Alkanoates

The number of optical isomers of a
compound with n asymmetric C atoms is

(A) 2 (B) n’

n
© 3 (D) 2n
This group shows + I effect :
(A) NO, (B) CN

(€) CHO (D) COO™

Which one will have odd number
electrons ?

(A) Methyl cation
(B) Methyl anion
(C) Methyl radical
(D) Methane

10

40.

41.

Of all the possible conformations of
n-butane, the one with the following
angle of rotation is most stable :

(A) 0°

(B) 60°
(©) 120°
(D) 240°

Starting with CH;COOK, Kolbe’s

electrolytic ~ method
following on cathode :

(A) CH,

liberates  the

(B) €O,
©) H,
(D) C,H,

Clemmensen reduction uses :
(A) Zn-Hg+ Conc. HC/

(B) Na

(B) Alkaline KMnO,
(C) Acidic KMnO,
(D) Zinc dust

DIRMOMNL
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32.

99 e e SR 8 e B
g 4 e jihe
(A) N (B) CI
©) 1 (D) P
33. “gef@Re” wmeris ?
(A) CH;OH 39.
(B) CH,CH,OH
(C) CH,COCH,
(D) CH;COOH
34. C.H, ,OSadIamrgAe
(A) Tehet
(B) TeHH 40.
(C) Tela
(D) fehel Tedbeiive
35. % A Rrnt n sl C o ¥, SE%
SUI-gUTe FHTEAI B AT &
(A) 2" ' (B) n’
© 3 @i
36. TEUE+ | ywacuiarg ;{ ""';
(A) NO, (B) CN 3'\
(C) CHO (D) COO™
37. i gerag I @) e Rm gt 2 42.
(A) e e
(B) et Homa
(C) #fra e
(D) #37
BIMC6 11

38N

3iTeC & 4RI FHEaad! B AT R

n-g & W) i <Rl 1, TR <RT
Rorert e aptor Py e &, g e v & -
(A) 0°

(B) 60°

(C) 120°

(D) 240°

CH,COOK & RW #=, &1 # fiea-
e R 3 Frer refe w e B -
(A) CH,

(B) CO,

©) H,

(D) C,H,

\- \(A) Zn — Hg + 975 HC/

(D) Ni

fvSaR SRS TR ?
(A) Pd|CaCO, + (CH,C00),Pb
(B) &maKMnO,
(©) WKMnO4
(D) R
o



R o R R

(i) kMnO”, OH™ 47. This contains hydrocarbons with carbons
43. The product of CH=CH D 3 in the range of C3 - Cy :
ii
is (A) Paraffin wax (B) Kerosene
(A) CH}COOH (C) Bitumen (D) Petrol
(B) COOH A
OH 48. Bergius process converts the following
Co into gasoline.
(€) CH,CHO (A) CO+H,
(D) CH,CH,OH " (B) Wood

(C) Coal +H,

44. The monomer for the polymer which is (D) CO,+H,

used for coating cooking vessels to make
their surface non-sticking is
-49. Ammonolysis of RX gives

(A) CH,=CH,
(A) Amine (B) Amide
(B) CH,=CHC/ (C) NH, (D) RCN
(C) CF,=CF,
+
(D) C4H;CH = CH, 50. CH,NC ——will produce products
: including :

: : (A) CH;COOH
45. The monomer for this polymer is

prepared from cyclohexanone : (B) CH;CONH,
(A) Nylon 66 (C) CH,;CH,NH,
(B) Nylon 6 (D) HCOOH
(C) Dacron

(D) Rubber 51.  What is chloral ?
A) £ (B) CCLCOCH,

46. This polymer is present in cell walls of (D) CHCIy
plants :
(A) Starch on of chloroform with Ag
(B) Chitin
(C) Poly-isoprene e
(D) Cellulose (C) CH=CH (D) HCOOAg

n 5 12 Tad M N Mr
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(i) KMnO,,, OH™ R

43. CH=CH

> FSARE
(ii) H /

(A) CH,COOH [

(B) COOH , TS .
W T~
COSH. N\ TuvE
(C) CH;CHO

(D) CH,;CH,OH

44. U TP W I IGAB BT @M1 TB & a1
B aE W oY f5an o & 91 99 WP A
fors -

(A) CH,=CH,
(B) CH,=CHCI
(C) CF,=CF,

(D) C4H,CH=CH,

45. 39 9EAD BT UHAP ARG | T

TR

(A) A 66
(B) AR 6
(C) 3wm

(D) W

46. I IgHD Wil B PIRHT AR HroEIa R
(A) ™
(B) @M
(C) utcliemeaniia
(D) degar

BIMC6
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Cy PURERHE

< BTERIPR & Ry ol e C g

48. afmw v ERT e @) e # aRafea

fraomane :

(A) CO+H,
(B) @rs

(C) ®&an+H,

(D) CO,+H,

49. Rxévmmﬁmzﬁm%

(A) wim
(C) NH,

(B) wss
(D) RCN

50. CH,NC — s b wamid a gmem:
(A) CH,COOH
(B) CH,CONH,
(C) CH,CH,NH,
(D). HCOOH

(B) CCI,COCH,
(D) CHC,

52. ARG Y Ag o1 & et R B wwE

BrTR
(A) CH,
(C) CH=CH

(B) CH,=CH,
(D) HCOOAg

Q collegedunia:
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54.

99,

56.

57

58.

A  mixture of CH3COOC2H5 i

CH,CH,CH,COOC,H4 was saponified.
The alcohol(s) produced will be

(A) C,H,OH
(B) CH;OH
(C) CH,CH,CH,0H /

(D) CH;OH+ CH;CH,CH,0H

Victor Meyer’s test of a secondal
alcohol give the following colour :

(A) Red (B) Blue
(C) White (D) Green

O, does not react with this directly.

(A) P
(C) Na

(B) CI
(D) S

Which will quickly adsorb 0,?
(A) Alkaline Pyrogallol solution
(B) Conc. H,S0 4

(C) Lime water

(D) Alkaline CuSO, solution

Oleum is

(A) Castor oil

(B) Mustard oil
(C) Fuming H,S0,
(D) Oil of Vitriol

This is a peroxide :
(A) KO,

(C) MnO,

(B) BaO,
(D) NO,

\ A\

14

59. Repeated use of this fertilizer increases
soil acidity.

(A) Urea
(B) Superphosphate of lime

(C) Ammonium sulphate

£
60. | Which one will liberate Br2 from

(45 |
‘I _\b
~ ssglution of KBr ?
./“'"» ‘%
A) HI (B) SOZ
© ¢, D) I,

61. Which one is paramagnetic ?

(A) CLO (B) CIO,
(©) ClL0, (D) CLO,

62.  The reaction of glass with HF produces :
(A) SiF, (B) H,SiF
(C) H,Si0,4 (D) NajAlF

63.  Which one has the highest lattice energy ?
(A) RbF (B) CsF

(D) KF

members of this pair produce same
upon reaction with H,O :

(B) Na, Na,0,
(C) Ca,CaH,

(D) Ba, BaO,

BIMC6
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53.

CH,COOC,Hs + CHyCH,CH,COOCHs |
FT AR B W 9 IeIEe 1 Sfepreat ¥ |
1 fiystor ST & J Lo
[ &
(B) CH,OH \\
(C) CH,CH,CH,0H
(D) CH,OH+ CH;CH,CH,0H
54, T e sewTEe & W fRiger iR we
¥ g e E
(A) @ B) e
(C) v D) &
55. O, 3 R e T i s T A
i (B) CI
oy @) S
56. @FPIIMIY 0, Pro@fa BT ?
(A) s TR e
(B) W% H,S0,
(C) IR
(D) &y CuSO,, frer
57. oifermE
(A) PR
(B) w=™iHIAA
(C) WTH,S0,
(D) fifgaiter ®1ere
58. € TS TS ¥ :
L8 K02 (B) BaO,
(C) MnO, (D) NO,
BIMC6

15

e (B) T ITGRBRDE
O () v
(D) KNO,
60. ﬁﬁBrzﬁKBrﬁﬂ’ﬂﬁﬁgﬁm?
T (B) SO,
(©) CI, D) 1,
61 FTHADH ST ?
(A) CLO (B) CiO,
s e (D) CLO,
62. @ HF 3 sffrarox S aeard:
(s (B) H,SiF,
.\ 4 o o e ot e & 2
@) RF  (B) CSF
o g $ 1w H,0 & awr aififsbar v
BRI FISAE FAE ;
(A) K, KO,

(B) Na, Na202
(C) Ca,CaH,

(D) Ba, BaO,
a
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65.

66.

67.

69.

74

70.

Cane sugar reacts with HNO; to produce

(A) HCOOH

(B) COOH
COOH

(C) CH,COOH

(D) CH,CH,COOH

Which ore is not concentrated by froth,
floatation ?

(A) Galena

(B) Copper pyrites
(C) Sphalerite
(D) Argentite

Which alloy contains a non-metal ?
(A) Invar (B) Steel

(C) Bell metal (D) Bronze

Which one shows paramagnetic property ?

(A) CO, (B) Si0,
(©) SO, (D) Cio,
This cannot be reduced by C :
(A) Fe,0, (B) AlLO,
(D) ZnO

(C) PbO

Which is always present in pig irgn in
s \
maximum % ?

(A) Mn
(C) Si (D) P

The half life of Tritium is about
(A) 12 years (B) 12hrs
(C) 12 min (D) 12sec

(B) C \ 95N

72.

508

3

74.

78.

Hydroformylation of olefins produces
(A) RCOOH (B) RCHO
(C) ROH (D) R-R

(Qround water constitutes the following

(B) 0.2
(D) 0.6

In this compound, H,0O molecules are in
the form of interstitial H,O :

(A) [Cr(OH,) >
(B) [Ni(OH,)(J*" .
(C) CuS0,.5H,0
(D) BaC12.2H20

Which compound can be formed by use
of soap in hard water ?

(A) Calcium stearate

(B) Sodium stearate
(C) Sodium oleate
(D) None of these

This gas has the highest binding constant
with hemoglobin :

(A) O,

(B) CO

(©) Co, (D) N,

MEARNTNs
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65, T B w@ER HNO, % W aififar a% 72, AT BT e BRI SIS FT R

e R & (A) RCOOH (B) RCHO
(A) HCOOH < - (C) ROH (D) R-R
(B) COOH - 1

COOH ‘ 3,
(C) CH,COOH
(D) CH,CH,COOH

e

STt &Y TRt % FAT e e F R

(A) 2 (B) 0.2

66.  Faret arrees ) et et AR T i T —t 20 @y 28
g ? '
i 74. 39S § H,O 319 SfcRTepre 3opaii o e
(A) e s
(B) IR UTRES i
(A) [Cr(OH,)q]™
(C) BherwEe , 2"2+
B i(OH
D) seme (B) [Ni(OH,)4]
(C) CuSO,5H,0
67. PrridRmRmE AR (D) BaCl, . 2H,0
(A) TR (B) v :
75. WA $ HOR 9 A SN A | B A
(C) dw-urg (D) s~
e T Bl e & 2
68. @I UG FTGED I UI ST E ? (A) FfewasfReRe
(A) CO, (B) SiO, (B) wfemmfeRe
(€©) SO, (D) Cio, (C) |
69. FEHIC ERISEIT T = LB AT A
(A) Fe,0, (B) ALO; 3 /%
(C) PbO (D) ZnO 76, Jorhafia s o gfE sreRv e

£« %5
£ S

0. TRATHERTER Y wiRm Ao (A) NO (B) NO,

(A) Mn (B) C (€) CO, (D) H,
(€) Si (D) P |
7. T8 A & R wated T fRR1E
71, STRRgN Bl 3 Y T E ‘ e
(A) 1279 (B) 1282
(A) 0, (B) CO
©) 121 (D) 123 © ¢, e

BIMC6 : 17 o
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78.

7.

80.

81.

82.

83.

84.

18

1

This is a component of photochemical 85. Which of the followin;,; does not have a
smog : v metal-carbon bond ?
(A) HCHO (B) CH4CHO (A) A/(OC,Hy),
(C) HCOOH (D) CH, )} C,HgMgBr
{ =l K[Pt(C,H,)C/5]
Leakage of this gas caused Bhopg , 4 :
tragedy : \ & 'i < 7). NOO),
(A) NO,
(B) CH,N=C=0 86. Which one is not optically active ?
A) Glyci
© ci, (A) Glycine
(B) Lactic acid
(D) Br, ; g ks
: (C) Aspartic acid
(D) 2-Chlorobutane
The light reaction in photosynthesis
involves :
(A) Photolysis of water 87.  Which is both paramagnetic and coloured ?
(B) Formation of sucrose (A) KMnO, (B) CuF,
~ (C) Formation of AMP (©) K,[Fe(CN)¢] (D) K,Cr,O,
(D) Formation of glucose
88. Nembutal is
Cellulose is not present in clothes made of (A) Analgesic (B) Trsquilizer
(A ik (B) MeGan (C) Antiseptic (D) Antihistamine
(C) Linen (D) Rayon
i S 89. At what ppm concentration, C/, is used
; b
s R i e e for disinfection of drinking water ?
(A) Glucose (B) Mannose
e (A) 10 (B) 03
(C) Sucrose (D) Lactose s £ 5 3
‘F’ is a single letter code for this amiro _ g( LK
acid : Uit 90. an antimicrobial :
(A) Cys (B) Val ysozyme (B) Aspirin
(C) Phe (D) Pro Norethindrone (D) Glycog'_en
This is a purine : 91. Omeprazole is
(A) Cytosine (B) Uracil (A) Sulphadrug (B) Antibiotic
(C) Thymine (D) Guanine (C) Antihistamine (D) Antacid

Q collegedunia:



78.

TE TP SH BIeR BT b vy &
(A) HCHO (B) CH3CHO
(C) HCOOH (D) CH,
7 &
/o
79. A iR AR T s Redagg oy
(A) NO, ‘
(B) CH;N=C=0 e 4
©) C12 “‘\._E 'v;/
(D) Br, -
80. UHTI-HIAWU H yHIRG At & SRE
(A) T &1 yHRE-3TaeT
(B) g1 &1 w0y
(C) AMP &1 famior
(D) TS %1 oy
81. 7% g ul ¥ Yggelv €] BT
(A) e (B) ®um
(C) w1 (D) a™
82. uETRE ¥ afeiE oIS AR 0 4 |
(A) TIPS (B) ¥t
(©) gw (D) dae
83. “F 39 30l 3 B Uhel SR BIS &2«
(A) Cys (B) Val
(C) Phe (D) Pro
84. WwrHRAE :
(A) aEeRiF (B) Rf¥a
(C) grrf= (D) =
B1IMCé 19

85.

87.

88.

89.

91.

74 R e a0

(A) Al(OC,Hy),
(B) C,H;MgBr

A2 e N\©). KIPHC,H)C)

B ITGEBI AR TS ?
(A) KMnO, (B) CuF,
(©) K, [Fe(CN)] (D) K,Cr,0,

Aqeas

(A) derr (B) wenia®

(C) yforwh (D) wfafeeeriq
T w11 91y <=1 1R Y T oR CL, 9 ot
& forg IrmopeTeRt B B Rl & 2

(A) 10 (B) 0.3

(€)=30 (D) 13

(A) aREENTR (B) &R+ \
(C) aRUfFgH (D) TEARIBISH |
AT &

(A) w1 3Nefy (B) wimifas

(C) wfaferifda (D) wufder
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92.

93.

9.

95.

P R L S N S e

This is a reversible reaction
MnO,
A) 2KCIO, —2KC/+ 30, /
@ LET e 2 I/ :
i
(B) BaCl,+H,50, — BaSO, + 2[\{01

(C) SnCl, + 2FeCl; — SnCl, + ’7FeC73\

(D) N,+3H, - 2NH,

m—
S

For N2 + 202 2N02, the

equilibrium constant is 100. The Keq for
1

NO, &= 37N, + O, at the same

temperature is

(A) 1 (B) 0.1

©) 10 (D) 0.01

1 mole CH3COOH was mixed with 1
mole of CZHSOH and 1 mole of H,0. At

equilibrium, 54.3% acid was found to
have been converted into the ester. The
I(eq for esterification is about :

A 2 (B) 4

© 6 (D) 8

In the manufacture of NO accordmg to
the equation N, + O2 = 2NO - heat

formation of NO is favoured by X7

(A) Low temperature

- (B) High temperature

(C) High pressure

(D) Low pressure

o
4
R

S s

i

98'

99.

100.
il
2,

A first order reaction is 75% complete in
72 minutes. It is 50% complete in the
ollowing number of minutes :

(B) 18
(D) 9

The rate of a reaction is equal to the rate
constant. The order of the reaction is

(A) 0 ®) 1
© 2 (D) 3

This is a weak acid

(A) NH,
(B) H,S
(C) HCIO,

(D) NH,NH,

al? KaZ’ Ka3
" are first, second and third ionisation
constants, following is correct :

(A) Ka3 7 Ka2 3 Kal

In polybasic acids, if K

(B) Kal - Ka3 % KaZ

© Ku>Kp>Kg;

following is correct about

(B). H, is liberated on anode.
(C) 0, is liberated on anode.

(D) SO, is liberated on cathode.

; Q collegedunia:
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MnO2
(A) 2KCI/O; ——2KC/ + 30,
<9

}
(B) BaCl,+H,S0, — BaSO, + 2HCI

N\

(C) SnCl, + 2FeCly — SnCl, + 2FeCl, . *
N

(D) N,+3H, - 2NH,

93. N, + 20, == 2NO, & for¢ a1 fRRi®

100 & | St a9 ® NO, #%N2+

0,#1K,, &
(A) 1 (B) 0.1
© 10 (D) 0.01

94. CH,COOH %11 #i@i C,H;OH & | @t
aﬁvH20$1 e & 9R fAf¥a e mam

ATRATERAT W) 54.3% 37 HT Teex ¥ gRad
mwmwﬁaﬂwml(eqavm%:

(A) 2
©) 6

(B) 4
(D) 8

95. N, + 0, == 2NO - %o wiax" &
AR NO & fafor 3 go<t eran fyerf ;

(A) F=am \
(B) S=aam
(C) S=aTm

(D) PrTmE

BIMC6

96. U W Hife B AT 72 e 75% b
. _BRITE 178 50% 7ot 8% & et et A

(A)\36 (B) 18
) D) 9
P &R IGP T fRRTH & RER T |
N AP
(A) 0 (B) 1
(€)-2 (D) 3

98. WETHZAAIAL
(A) NH,
(B) H,S
(C) HCIO,
(D) NH,NH,

fercfra e et s R &, A wdi &
(A) Ka3>KaZ>KaI |
(B) K, >K;3>Ky,

© Kal . K212 > Ka3

N ey D) Ky >Ky >Kp

100. g H,50, % Rg-amwes & frva # fr
3 g

(A) O, PSR ENANE |

o, .

(B) H, i Rya ERil & |
(C©) O, FERIFERNE |

(D) SO, FASRIFERAE |
21 -

99. wgaRa wrl A AR K, K,y K,y W,
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2. - Roll No., Examination Centre and its Code and Test Booklet No. should be written on the Part-I of the Answer
Sheet in Computerised format. The Digits should be written in topmost boxes in Blue / Black ball point pen and the
circles corresponding to the digits be blackened with Blue / Black ball point pen only.

IR-TI & we-1 % e ®H | Vet TR / e d% w1 ws / We-qias F TE@ MY B IG5 |
FIE-T ehaT | W |w%ﬁﬁrmﬁmmwwwaﬁﬁ/mwﬁﬁﬁmwﬁwrﬁvﬁaﬁ
fords fiett / wrelt dfet @Rz O @ WX |

Example : If Roll No. is 179682 : .and the Question Booklet No. is 14390, then

IR af et =R 179682 & "‘,..ﬁg\a} - FE@AT 14390 ¥,
17968{2-_‘ Y 1]4[3]9]0
0@@@@‘@," OO|IO|IO(O
@IO|0|10|0 PO0|0|0|0
POO|0|0|® OO} JIOX[©)
QOIO|IO|IO|®|® O} OO O]
®OIO|I0|6|0|6 ®|IO|I®|6|6
OIo|IC|e|G|G OIe|IO|G|G
O@I0|I0|0|0 O|O|I0|0|06
(OO IOREORN 2 HO
olo|e|e|o|e ole|o|e|e
elo|o|o|o|e @'..@@;@\o

(C) Process for Filling up OMR Answer—Sheet (Fw-uzes ure-11 w}"ﬂﬁ | uﬁm) -

1. The questions are multiple choice type. Each question is provided with a number of chmce of Answers, out of
which ONLY ONE is MOST APPROPRIATE. The candidate muséblacken the appropnate, #le provided in front
of the question number, using Blue / Black Ball Point Pen only. If cand\date uses ;he.py geil for darkening the
circles on the answer-sheet his/her answer-sheet will be rejected. >

T - R S | et T A e 2 e T @ S e e & | el ) e
m%mmﬁm%m%mﬁwrﬁﬁaﬁﬁaﬁ/mww&ﬁ?ﬁﬁm% m&aﬁéwhwr
et Ht YTt @ TTAT & A 3T ITR-GA% B € FT AT AR |

Example : If correct answer for question no. 7 is the choice ‘B’, then darken the circle in front of question no. 7 as
shown below :

IR ;3 v g 7 % o faeea 4B va”rw% ﬁmm7%mﬁ%mﬁaﬁéaﬁ=ﬁ%ﬁm&w&%m‘
AT

Q. No. 1 ®eE 00O
Q. No.2 ®® 00

Q.No.7 @ . © ©

2. (a) The circles, as déscribed in C-1 abg;ﬁ,‘%r o be darkened by using Blue / Black Ball Point Pen only.
4\

(b) The shading should be uld completely fill the circle.
(@) et @ qUieT § RT TE 07 @ @R |

Continued on the back cover page.
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(c) Only one circle corresponding to the correctanswer should be darkened as shown below :
(m aﬁm#mﬁwmwﬁtﬁﬁﬁwmaﬁqﬂwﬁmw%

Correct / G&t O NOHOG) i '
Incorect/ T D @ @O o O GOV T-BYPOO « ®®O O
Incorrect/™™d A @ WO o @ ; o i ®r @0 - OOEWO
Incorrect / TTAet @@@ ® S

eraser or white / correction fluid on the answer-shee issible as the answer-sheets are machme

gradable and it may lead to wrong evaluation.

() IR T o <Al / el A @HE wow ¥ TR R wS anadt 7w [ e g o e a3 F e
eitfes wEt et ® 11 @ ¥, e e ® TR F B oRed s af € | e d O T e % @
e 78 @ e *t argef T < et &, i SR-gwe @ i gy et fear ST & ok e WA W
oo J JfC e wwat d |

(¢) Ifmore than one circle is darkened using Blue / Black ball point pen or if the response is marked in any other
manner or as shown in “Incorrect method™ above, it shall be treated as wrong way of marking.

(¥ I THF s et i Aelt / wieh diet @ Few J T TR A7 I I3 THR T F9E TR e T
T TR ¥ e fRaT SR At S TTere SR e s |

Rough work must not be done on the OMR answer-sheet. Free space provided in the question booklet should only
be used for this purpose.

forelt WA 1 e T SR W TR ST lmvﬂm ~qfiTent H T o et w ot g man €, s@ W
HH |

“Bar Code” pnntedon the Answ
will be rejected. |

mmwa&wﬁz”wmﬁm Frarrr anfs = w7 e X i = forgr 9 § e
Mﬁmﬁr{emﬁﬁﬁh

Candidate must not leave any mark 69'
Answer Sheet as this may lead- t&

wm%qﬁ-ﬁs‘u@ﬁaﬁw
I I & AT WA |

For verification of your handwriting, it is necessary to write the prescribe d Text completely whlch is pri
back side of the Part-1 of OMR answer-sheet and also put your signatu on specified space m Hl gl
otherwise your answer-sheet / candidature will be rejected. j S 4

.UH.IR. IT-T7% & U1 % g 3ifewa maier 5 PremER s "-‘wgb;;«rﬁ 7
Tt e siisht o Forvifte T et | weaffy it & frg aw aftrart € | S e SR
I T W gar s |

In case you do not follow the instructions as given on the backside of OMR answer-sheet, your answer-sheet is
liable to be rejected for which you yourself will be fully responsible.

IR ST 3.3, F ITR-T7 3 T8 0T 7 et 72 et ahv e 1 it amen - v e o e
¥ e forg a9 @ quies @ seemt @

eet must not be tampered or in any way marked; otherwise the candidature

entification on any part of the Answer Sheet except Part-I of the OMR

Tn A M A e~
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